Chapter 1 Test Bank: Exploring Integers on the Number Line
	A.  Integers
	B.  Absolute Value
	C. Magnitude

	D.  Scaling
	E.  Whole Numbers
	F.  Origin

	G.  Natural Numbers/Counting

      Numbers
	H. Venn Diagram
	I. Number Line Model

	J.  Positive Integers
	K. Negative Numbers
	L. Trichotomy


1.  _____ On a number line, the number that is labeled zero.  F.  Origin
2  _____ The set of all whole numbers greater than zero.  

   G.  Natural Numbers/Counting Numbers

3  _____ The distance a number is from zero.  B.  Absolute Value 






4  _____ The collection of negative, zero and positive integers.   A.  Integers  



5  _____ How the marks are labeled on a number line; which is decided by the size of the numbers to 

               be represented.   D.  Scaling

6  _____ A way to represent the location of numbers.   I. Number Line Model 

7  _____  Integers to the right of zero on the number line.   J.  Positive Integers


8  _____  The collection of numbers in the never ending sequence: 0, 1, 2, 3, 4, 5, … E.  Whole Numbers
9  _____  Integers to the left of zero on the number line.   K. Negative Numbers 

10_____   A way of describing the measure or size of a number.  C. Magnitude  

11  _____  A property which states that there are exactly three possibilities for a number: positive,

                  negative, or zero.   L.  Trichotomy
12   Which of the following numbers is closest to -3?


a.  -10


b. 7


c. 0


d. -5
13   Which of the following numbers is closest to -24?


a. -19


b. -28


c. 22


d. -17

14   Name all the integers that are greater than -2 and less than 5. 


a.  -2, -1, 0, 1, 2, 3, 4



c.  -1, 0, 1, 2, 3, 4, 5


b.  -1, 0, 1, 2, 3, 4



d.  0, 1, 2, 3, 4

[image: image10.wmf]5

-

15   On the number line drawn below, plot all the integers greater than -11 and less than -3.

[image: image11.wmf]4

-


16   What temperature does the thermometer show?
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a. 2º F

b. -2º F

c. 4º F

d. -4º F
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17 On the thermometer below, label the following temperatures: -2º F, 2º F, -5º F and 7º F.

18   At 4:00 pm in the afternoon the temperature in Anchorage, Alaska was 3º C. At 7:00 pm, the

          temperature had dropped 8 degrees. What is the temperature at 7:00 pm?


a. -3º C
b. 11º C
c. -5º C 
d. -4º C

19   Which of these amounts could best be represented by the integer -135?

a. The depth in feet to which a marine biologist dove in the sea.

b. The number of new people who bought a club membership

c. The distance in feet a geologist climbed up the wall of a canyon.

d. The amount of dollars a store received from a company for a computer modem.

20   The temperature in Minneapolis is currently -10º F. The temperature in New York City is

          currently -14ºF.  Which of the following statements is true based on this information?

a. It is 4 degrees cooler in Minneapolis.

b. It is 4 degrees warmer in New York City.

c. It is 4 degrees cooler in New York City.

d. It is 10 degrees warmer in Minneapolis.
21   The temperature in Halifax, Canada is -7º C. The temperature in Toronto, Canada is 15º C.

         Which of the following statements is true based on this information?

a. It is 8 degrees cooler in Halifax.

b. It is 22 degrees warmer in Toronto.

c. It is 8 degrees warmer in Toronto.

d. It is 22 degrees warmer in Halifax.

22   Find the distance between the two integers below:
                                        -2 and 6


a. 8


b. 4


c. 10

d. 6

23   Find the distance between the two integers below:

                                       -17 and -32
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Answer:___________

24   Find the distance between the two integers below:

                                     -26 and 14
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Answer:___________

25    Which point on the number line is closest to -4?
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a.  A

b.  B 

c.  C

d. D

26   Create a number line in the space below. Plot the following numbers on your number line: 

          





-2, 0, -7, -8.
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27   Some points on the number line below have been marked. Identify which numbers represent

          the marked points.
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A.________

B._________

C._________

D._________

28   Put the following integers in order from least to greatest.

{ -16, 12, 5, -2, 20, 0, -3, -10, 15}

____   ____   ____   ____   ____   ____   ____   ____   ____

-16,  -10,  -3,  -2,  0,  5,  12,  15,  20
29   Use an inequality or equal symbol to compare the following integers and then express each

          using words(less than, greater than, equal to):.



a.
 -5  
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   |-5|        _____________________________________________


b.
  2   
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   -12     _____________________________________________


c. 
-15  
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    -9      ______________________________________________


d. 
   0   
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     25    ______________________________________________



e.         | -4|   
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     4      ______________________________________________

30   Define absolute value. Give two examples to support your definition.



The distance a number is from zero. (Examples will vary)
31   Find the distance between the following pairs of numbers:



a. 
-9   and  10:

distance =  ________________



b.
 5   and    2:

distance = ________________

c.
-4   and   -9:

distance = ____________



d.
 0   and  -20:

distance = ____________

32   When George woke up, it was -15º C outside. That afternoon, George checked the temperature

           again and it was 6º C. By how many degrees did the temperature rise?    21°
33   Which list of numbers is in order from least to greatest?


a.
-41, -39, -4, 40, 42

b.
-41, 42, 40, -39, -4


c.
-4, -39, 40, -41, 42


d.
42, 40, -4, -39, -41

Use the following information to answer questions 35 to 37:

Joanne recorded the high temperatures in five different cities around the country one day. Her data is listed in the chart below.

	City 1
	City 2
	City 3
	City 4
	City 5

	5
	-15
	10
	-10
	-20



34  Which city had the warmest high temperature that day? _________________


35  Which city had the coldest high temperature that day? __________________

36  Write a word problem and its solution using the table above.


______________________________________________________________

______________________________________________________________

______________________________________________________________


37   What numbers are distance 5 from -3?  _________________

38   Which of the following numbers is distance 3 from x?     


a. | -3|

      b. | x |

  c. 6


d. x + 3
39   What numbers are distance 5 from 2?         __________ 7 and -3   _________

40   If x is the same distance from 2 as it is from 10, what is x?


a. 3


b. 5


c. 6


d. 8

41   If x is less than 0 and the distance between x and 3 is 7, what is the value of x?


Answer: _____ x = -4  __________

42   The distance between x and 5 is at least 7. The distance between x and 3 is at most 5. What is

          the smallest integer  x could be?



Answer: _______________

43  The following chart lists the math exam scores of 5 students in Ms. Eusebi’s class.

	Name of Student
	Exam Score

	Bill Evans
	94

	Sally Mae
	83

	Devin Ramirez
	86

	Amy Trent
	79

	Steven Bohm
	84


Which statement is best supported by the data?


a)    Devin scored 3 points lower in his exam than Sally.


b)    Steven scored 10 points lower than Bill on his exam.

c)    Sally scored 1 point higher on her exam than Steven.


d)    Amy scored 4 points higher on her exam than Sally


44   a)    |-5 | + |-2 | =  ________        b)   | -7 | + |-1| = ________
            c)      -|-5| = __________ 

45  The average temperature in Montreal, Canada, is 23º C in July and -13º C in January.  Find the

         difference of the highest and lowest temperatures in Montreal? BOX ANSWER

36˚C
46  A football player loses 6 yards in one play, 2 yards in another play and then gains 4 yards in the final

         play, what is the net gain or loss? Show how you solved using an equation.  BOX ANSWER




-6 + (-2) + 4 = -4,  net loss of 4 yards
   For #47 and #48, write an addition number sentence that can be used to solve each of the following problems.  Record your answer in the blank on the right.

47    The temperature started out as -25º C.  During the day it rose 20º C.  What was the temperature

               at the end of the day?   _____________________

48    Lisa returned to play another game of Jeopardy.  After the first round her score was $21,000.

        She answered a $2000 point question incorrectly.  She then answered a $1600 point question
        correctly.  

      


        What was her final score? ___________​​​​​​​​​​​​​​​​​​​​___________________________

49  Explain the differences between the following statements, including the symbolic difference:

                   “ 14 less than x” and “14 is less than x”

“14 less than x” means to subtract 14 from x, symbolically, x – 14.
“14 is less than x” means that 14 is to the left of x, symbolically, 14 < x. 
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City 3, 10˚





City 5, -20˚





Answers will vary





-8 and 2





 x = -2


0





-5





8





7





-25 + 20 = -5





21,000 + (-2,000) + 1,600 = 20,600
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